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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Arrangement And Pattern Questions Overview

Arrangement And Pattern Questions have a good weightage in the Banking Exam and the type of question asked in
Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they
have tried to elaborate the concept used in Arrangement And Pattern Questions.

Arrangement And Pattern Questions

Directions: Read the following arrangement carefully and answer the questions given below: MEN RAT BUG LIP HOP
NIB

Question

If first and last letter of each word interchange their position, then how many letters ended with the even number place
value letter?

Difficulty : Moderate Average Time: 41 Seconds

Options :
1.4

2.3
3.2
4. 5

51

Solution

The correct answer is Option 4 i.e. 5.

Given Series:

MEN RAT BUG LIP HOP NIB

After interchanging first and last letter of each word : NEM TAR GUB PIL POH BIN

Ending letter of each word =M, R, B, L, H, N
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Place value of M = 13 (odd)

Place value of R = 18 (Even)

Place value of B = 2 (Even)

Place value of L = 12 (Even)

Place value of H = 8 (Even)

Place value of N = 14 (Even)

5 such words which have the ending letter place value in even number.

Hence the correct answer is 5.
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